LASER PRINTER

SERVICE MANUAL

pummIIII———— 4

DX-2000

MECHANICS & ELECTRONICS ——



CONTENTS

CHAPTER | GENERAL... ..o -1
1. SPECIFICATIONS ...t et e e et e e e e e aeee -1
CHAPTER [ MECHANICAL SYSTEM....ccoiiiiiiiiei e -1
1. BLOCK DIAGRAM ...t e e e e e eees -1
2. PAPER FEED MECHANISM ...t -1
3. PAPER FEED SEQUENCGE ........ o -2
4. PAPER PRESSER MECHANISM......coiiii e -3
CHAPTER lll ELECTRICAL SYSTEM.....coiiiiiiiee, -1
1. COMPOSITION Lot e et e e e e e e e -1
2. MAIN PCB FUNCTION ...cuuiiiiii ettt e e eenans -1
21 1 O (ol U SO PSP TU PR UPPRPT -1
2.2 REGUIALON ...ttt sttt e e e st e e nanneeeeas -1
2.3 FAN DIV CIFCUIL ... .eeiieiiiiii ettt e e e e e senne e e e -1
24 MOLOF DIIVE CIFCUIL ...eeeiiieiiee ittt et et e et e e et e e e -1
25 o] =T g o] (o AN ot (U= (o] S PSSP P RS PU PP -1
2.6 SENSOF INPUL e e e e e e e e e s s s e e e e e s e s e e -1
T 1 e o 1 = U EPPPRPUPPRPN -2
4. COMMUNICATION WITH THE PRINTER .....ccooiiiiiiiiei e -2
CHAPTER IV DISASSEMBLY ... V-1
1. EXTERNAL COVERS ...t V-1
11 (©70] 171 0T 171 1 o] o F TP PP PRI V-1
1.2 SHAE COVEI R ..ottt ettt e s aab et e s bbn e e e s bb e e e e snneeas V-1
13 SHAE COVEE L.ttt ettt bbb e e st e e s abe e e e abee s IV-3
1.4 BOOM COVE ...t e e e r e e e s e e e s V-4
15 TOP COVET ..ttt e e s et e e e e e e e e e e r e e e s IV-5
2. OUTSIDE FRAME UNIT ...ttt V-7
21 (©70] 171 0T 171 1 o] o F TP PP PRI V-7
2.2.1 Removing the outside frame unit from the DuplexX unit...........ccccveeiiiiiiiniiiie e V-7
2.2.2 Mounting the outside frame unit in the DuplexX Unit............ccceeiiiiiieiniien e V-9
2.3 DUPIEX I/F PCB ...ttt ettt et e e s IV-10
24 Outside Frame R ASSY, L ASSY ...cii ittt ettt IvV-11
25 Paper PreSsing GEAN 1, 2 .....c.uuiiiiiiiiieiiiiie ettt ettt IV-12



2.6 Paper PreSSEr IMOTOT........uuiiiiiiieiiiiieieeeiee ettt a e e ne e IV-13

2.7 T BEIEBAOS2M3BOB ...ttt ettt ettt as IV-14
2.8 Photo INtErrUPLEr 1240 ... ...oiiiiiii ettt e IV-14
3. INSIDE FRAME UNIT ..ot e e e e IV-15
3.1 REVEISIDIE Frame .....oooiiiiiiiiiie e IV-15
3.2 Photo iNterrUPLEr 1240 ........cooiuiiiiiiiiie ittt eebe e IV-15
3.3 ST0] =1 oo o IO PP PP PP PPPPPRUPPPPN IV-16
3.4 Carriage GUIAE 2 ASSY......ueiiiiiiiie ettt e e st e e e e e IV-16
3.5 Carriage GUIAE L .......eeiiiiiieii ettt e e et eenbe e e e IvV-17
3.6 DUPIEX PCB ASSY ...eetieitiiiie ittt ettt ettt ettt sttt e e sttt e e s b bt e e st b e e e s anbne e e s annneees IvV-17
3.7 DC FAN MOTOK ...ttt e e e e e e e e e e e e e eae s IV-18
3.8 REVEISIDIE MOTOT ASSY ....eiiiiiiiiie ittt ettt e s sanee s IV-19
4. DU TRAY CARRYING WAY UNIT ... IV-20
CHAPTER V TROUBLESHOOTING.......coiviiiiiieiieece e V-1
APPENDICES
1. CONNECTION DIAGRAM ... A-1
2. MOTOR DRIVE CIRCUIT ..ceiiei e e e e e A-2
3. MAIN PCB CIRCUIT .ottt e e e e e e e e eenes A-3



CHAPTER | GENERAL

1. SPECIFICATIONS

(1) Papertype Cut sheet
Feedable paper weight : 60 ~ 105 g/ m’

(2) Paper size Max. : 216.0 x 356.0 mm
Min. :182.0 x 257.0 mm

A4, Letter, Legal, Executive, ISO B5 (not available for
the optional lower paper cassette)

(3) Input power supply 24V DC % 10%, max. 0.7 A (supplied from the printer)

(4) Feeding system Type :Reversal type
Paper feeding system :Alternate paper feeding system

(5) Paper feed Paper feeding rate :117.6 mm/sec. (20 ppm)
94.1 mm/sec. (16 ppm)
70.6 mm/sec. (12 ppm)
Feedable paper size :Ad 210.0 x 297.0 mm
Letter 215.9 x 279.4 mm
Legal 215.9 x 355.6 mm
Executive 184.2 x 266.7 mm
B5 182.0 x 257.0 mm

(6) Dimensions 323.0 (W) x 105.0 (D) x 286.0 (H) mm
(7) Weight 5.4 kg

(8) Environmental conditions

1) Operating Temperature :10°C ~ 32.5°C
Humidity : 20% RH ~ 80% RH (No dew
condensation allowed)
2) Idling Temperature :0°C ~ 35°C
Humidity :10% RH ~ 80% RH (No dew

condensation allowed)
3) Storage

Store the unit under the following conditions to ensure reliable performance.

Normal (90% of entire storage period) 0°C ~ 35°C
Temperature Severe (10% of entire storage period) High 35°C ~ 60°C
Low -20°C ~0°C
Temperature variation (within 3 minutes) 60°C - 15°C
-20°C - 25°C
Normal (90% of entire storage period) 35%RH ~ 85%RH
Humidity* Severe (10% of entire storage period) High 85%RH ~ 95%RH
Low 10%RH ~ 35%RH
Air pressure 613 ~ 1013hPa
Storage life 0.5 years

*No dew condensation allowed



4) Transportation conditions

Environment :

Temperature -20°C ~ 60°C
Humidity 95%RH or below
5) Vibration
Vibration Vibration Measuring method
acceleration frequency

During operation 0.2G 5~ 100 Hz | Refer to the evaluation test standard.
At standby 0.2G 5~100 Hz Same as above.
When packed 15G 10~ 100 Hz Same as above.

6) Inclination

7) Mechanical noise

(9) Interface

inclination angle of 2.

At standby

1) Connector signal table (8 pin modular jack)

The feeder must operate properly even at an

During printing : 55 dB (A) or below
40 dB (A) or below

i)
5

Signal name

24V

SIDATA

24V

SICLK

GND

IATTN

/IRESET

| N|OoO| 0| Bl W| NP

GND

2) Interface circuit

e

74L.S07 or equivalent

5V

Connector

l

ov



CHAPTER I MECHANICAL SYSTEM

1. BLOCK DIAGRAM

The Duplex unit is composed of an outside frame, an inside frame and a Duplex tray, and
operates according to signals sent from the printer in serial communication.

Outside frame Inside frame

’—{ Open cover sensor

I/F PCB

Printer Fan motor

Main PCB

Serial Reversible motor

communication

Solenoid

L{ Paper pressure motor |

Cassette sensor |

|
1
|
1
|
1
|
1
|
1
|
1
|
1
|
! Reverse sensor
1
|
1
|
1
|
1
|
1
|
1
|
1
|

Figure 2.1

2. PAPER FEED MECHANISM

As soon as the printer requests for drive, a signal from the main PCB turns on the
solenoid to run the reversible motor clockwise (when viewed from the motor output shaft).
The Duplex unit will draw paper from the printer by turning on the solenoid.

The supplied paper is further transferred by the reversible motor driven reversible gears.

When the reverse sensor detects the rear end of the paper, the reversible motor comes
to a momentary stop, and begins running counterclockwise.

Then the reversible motor enables the carriage rollers to feed the paper into the Duplex
tray installed within the Duplex unit. With the printer's Duplex sensor on, the Duplex unit
stops the reversible motor by a request from the printer.

One cycle of paper feeding operation is completed in this way.

Printer

Duplex unit

L

|
|
|
| 7
i
|

Reverse .
sensor Reversible gear

Main PCB

Photosensitive drum Solenoid

Positioner

Reversible
motor

o)

Pickuproller = ,feememmmm———— 4

A

Duplex sensor

Figure 2.2

-1



3. PAPER FEED SEQUENCE

@)

)

©)

(4)

As soon as the printer requests for Duplex drive,
the solenoid is turned on, the flapper is switched,
and the motor runs forward.

&
Q

9

The reverse sensor is monitored to measure the
time from when the solenoid is turned on to when
the sensor is turned on.

S
If the sensor has not turned on after a specified
time passed, it is deemed that paper jam has 9
occurred. o Q
T O O]
O Q
] O

The solenoid is turned off in response to
instructions from the printer, and the flapper is
returned as it was before.

After the reverse sensor is turned on, the time up
to when the paper has passed through the reverse
sensor is monitored.

If the sensor has not turned off within a specified
time, it is deemed that paper jam has occurred.

Immediately after the reverse sensor is turned off,
the motor begins through-down, stops for a
specified time, and runs backward.

~ O Q
87O O
O Q

T QO

I

@ O Q
01 0 O]
O Q

y O

-2



4.

(5) As soon as the printer requests for stop, the motor
stops and goes into a standby state.

@
O

&7

Q Q

| O

¢ Paper Feed Timing Chart
(when only one piece of A4 paper is reversed and printing speed is 12 ppm)

|
|
I T
| |
| |
Solenoid ! 4.84 sec” !
T T
. ! O.1sec ! | |
Reversible : i !
motor c.w c.cw
T
| | [ |
Reverse 1 1.3 sec* | 4.21 sec* o :
sensor : ' — :
i i i
Duplex | | 32sect |
| |<—>|
| |

Duplex drive request from the printer

Figure 2.3
* The paper feed timing varys in the printing speed.
For 16 ppm, 12/16 times the above values.
For 20 ppm, 12/20 times the above values.

PAPER PRESSURE MECHANISM

Upon a request from the printer, the paper pressure unit built in the Duplex tray is moved
up or down by the paper pressure motor connected to the I/F PCB.

The paper pressure unit is moved up only when the first tray is selected on the printer to
supply paper, or down when paper is fed from another tray.

The cassette sensor detects the position of the paper pressure unit, and whether the
Duplex tray is loaded into the Duplex unit.

Paper pressure motor

I/F PCB

Paper pressure unit

VVVVVVVVVVV

Cassette sensor f 2

Figure 2.4

-3



CHAPTER Il ELECTRICAL SYSTEM

1.

2.1

2.2

2.3

2.4

2.5

2.6

COMPOSITION

Main PCB

CpPU
M50927

I/F PCB
+5V
+24V 0

0 Motor drive circuit

Regurator

——)

Fan drive circuit

GND

Printer

Figure 3.1
MAIN PCB FUNCTION

I/F Circuit

This interface circuit is used to transmit and receive data with the printer. Since the
Duplex unit responds only to commands from the printer, the Duplex unit transmits its
status upon request from the printer.

Regulator

The regulator produces +5V logic power supply from the +24V supplied by the printer.
Fan Drive Circuit

This circuit drives the cooling DC fan.

The fan rotation speed is switched between two different levels according to the signal
from the CPU. It operates at high speed when the Duplex unit feeds paper, or it runs at
low speed while the unit is not in operation.

When the DC fan functions properly, it sends a /FLOCK signal to the CPU to confirm that
it is normal.

Motor Drive Circuit

According to the signal from the CPU, this circuit drives both the reversible motor and the
paper pressure motor.

Solenoid Actuator
According to the signal from the CPU, this actuator turns the solenoid on or off.
Sensor Input

Signals to each of the reverse sensor, cassette sensor and open cover sensor are
imported to the CPU port.

-1



3. I/F PCB

The I/F PCB consists of two connectors (8-pin modular jack connectors) for connection of
the printer to other optional devices, a paper pressure motor, a cassette sensor, an open
cover sensor connector, and a connector for connection of the harness from the main
PCB.

This board only relays signals among the paper pressure motor, cassette sensor, open
cover sensor and printer and the main PCB.

4. COMMUNICATION WITH THE PRINTER

A 3-line clock synchronous serial interface is used for communication between the
Duplex unit and the printer.

The following describe the timing of communication way.

Printer Duplex unit
SIDATA
DATAOUT '|> '|> DATAIN
DATAIN <II <|I DATAOUT
SICLK
CLKOUT '|> '|> CLKIN
/ATTN
JATNOUT '|> '|> IATNIN
P_RESET
JOPRST '|> /OP-RES '|> JRESET
+24V
+24V I I | REG. | +5V
GND
GND | I GND
+24V
Figure 3.2

-2



e-l

» Without a STATUS request

COMMAND transmission/receipt sequence

| |

/ATTN - ]
| | .
| ‘200 Hs! ‘ 500 min |
|
| } I } I

SICLK  ——T— : ;
| | |
! | |
i I I
| | | | [ | | |
14 s 1400 min; 1350 max 6.4min | | | 6.4min | |
D T | |
| |

SIDATA I ‘ ; ‘

|
! |DO D1|D2| D3 D4|D5 D6 | D7
i | | | | I I !
1500 maxi 50 ps | 12.8 HS—lI 1350 maxi 150 min |
- —| e o
| | |

» Within a STATUS request

COMMAND transmission/receipt sequence

STATUS transmission/receipt sequence

I I I

JATTN  — ]
| i 500 min
| } H—»}
! 200 ps | | i
I }4—»} } '

| |

SICLK 7 ‘ :
| | 350 max ‘
I | |
|
| | | | [ | | | | | |
| 4 1151400 min; 1350 max 64min | | | 6.4min I ! 200pus | 350 max| |
| i [ I o - L I |
| | | | | [ | I } | | | }

SIDATA ! ! ; |
|
! |D0 D1|D2| D3 D4|D5 D6|D7 | | |D0 D1|D2| D3 D4|D5 D6 D7
| |
3500 maxI 50 ps | 12.8 ps ‘ | 350 max | 1 150 us | 70 us/1000 ‘ | I 350 mi
| | |

} ] } _’:} } } i } HS, maxt} } '»/—} min
| | | ! l | | !



CHAPTER IV DISASSEMBLY

1. EXTERNAL COVERS

1.1 Composition

Lock lever cover
Lock lever cover

o Side cover L

Side cover R

Top cover

Bottom cover

Figure 4.1

1.2 Side Cover R

(1)  Push the lock lever cover, turn and open the inside frame unit.

Lock lever cover

Outside frame unit h / "
l\' LR '6
\ (\,j‘"-ig\'
E N
‘ b N Inside frame unit
|
)
2
Figure 4.2

V-1



(2) Loosen the screw fastening the side cover R.

Side cover R ) )
Taptite, bind B M3 x 6

Figure 4.3

(3) Using a small minus screwdriver, disengage the six hooks to remove the side
cover R from the outside frame R and the bottom cover.

(4)  Separate the side cover R from the Duplex unit.

Side cover R

Outside frame R

V-2



1.3 Side Cover L

D Unfasten the screw fastening the side cover L.

Taptite, bind B M3 x 6 )
Side cover L

Figure 4.5

(2) Using a small minus screwdriver, disengage the five hooks to remove the side
cover L from the outside frame L and the bottom cover.

(3) Separate the side cover L from the Duplex unit.

Side cover L @

Outside frame L

/\_/

Bottom cover

Figure 4.6

V-3



PR99079

14 Bottom Cover
(1)  Turn and close the inside frame unit.
(2) Lay down the Duplex unit on the side to face up the bottom cover.

(3) Loosen the two screws.

Bottom cover

Taptites, cup S M3 x 6

Figure 4.7

4) Disengage the engaging locks of the bottom cover from the outside frame L, and
separate the cover from the Duplex unit.

Bottom cover

Engaging locks

Figure 4.8

V-4



1.5 Top Cover
0} Place the Duplex unit with the bottom down.

2) Pushing the lock lever cover, turn and open the inside frame slightly. (approx.
30°)

\ Lock |
T B OCK lever cover

//Approx. 30°

Lock lever cover

Inside frame unit

Outside frame unit

Figure 4.9

(©) Disengage the hook of the lock lever cover by using a minus screwdriver, and pull
out the cover slantingly.

Lock lever cover

Top cover

Figure 4.10

V-5



(4) Loosen the four screws (two on each side).

Top cover
. Taptites,
Taptites, cup SM3x6
cup SM3x6
Top cover

Figure 4.11

(5)  Slide up the top cover to disengage the five engaging locks from the inside frame

unit, and separate the top cover from the Duplex unit.

Gear cover

Push the bosses in these holes,
and remove the gear cover.
Engaging locks

Inside frame unit

Engaging locks

Figure 4.12

V-6



2. OUTSIDE FRAME UNIT

2.1 Composition
Tower bars

Outside frame R assy

Outside frame L assy

Figure 4.13

2.2.1 Removing the outside frame unit from the Duplex unit
(1)  Turn and close the inside frame unit.

(2)  Disconnect the relay harness assy from the Duplex I/F PCB assy and the edge
saddle.

(3)  Pull out the fulcrum shaft R by using pliers.

(4) Remove the fulcrum spring.

o Outside frame unit
Retaining ring E4

Retaining ring E6

Bearing collar
Fulcrum shaft R

Fulcrum spring

Figure 4.14

V-7

Inside frame unit

Fulcrum shaft L



Edge saddle

Relay harness assy

Duplex I/F PCB assy

Figure 4.15

(5) Slide the R side of inside frame unit toward you to remove it from the fulcrum
shaft L and the outside frame unit.

Inside frame unit

R side Outside frame unit

Fulcrum shaft L

Figure 4.16

V-8



2.2.2 Mounting the outside frame unit in the Duplex unit

0} Keeping the inside frame unit slantwise, mate the hole for the fulcrum shaft L of
the inside frame unit with the fulcrum shaft L.

Notel : Do not get the relay harness assy caught between the inside
frame unit and the outside frame unit.

Note2 : If the solenoid assy harness is slack, stretch it.

(2)  Turn the inside frame unit on the fulcrum shaft L to set it in the outside frame unit.

Solenoid

Outside frame unit

Relay harness assy

Fulcrum shaft L

Figure 4.17

(8) Insert one end of the fulcrum spring in the hole in the outside frame unit.

Outside frame unit %

Inside frame unit

Fulcrum spring

Figure 4.18

V-9



(4) Pass the fulcrum shaft R through the outside frame unit, the fulcrum spring and
the inside frame unit.

(5)  Using nippers, set the other end of the fulcrum spring (inside frame unit side) in
the inside frame unit.

Inside frame unit
Retaining ring E4

Outside frame unit E*

Retaining ring E6 \
\.® h /,-,\\‘} M)
o 4
Bearing collar
Fulcrum spring

Fulcrum shaft R

Figure 4.19

2.3 Duplex I/F PCB

(1) Disconnect the paper pressure motor harness, the cover sensor harness assy
and the cassette sensor assy from the Duplex I/F PCB assy.

(2) Unfasten the screw.

(3) Remove the Duplex I/F PCB from the outside frame L.

Duplex I/F PCB

E@\ Cassette sensor assy

Cover sensor harness assy

Outside frame L

Paper pressure motor harness

Taptite, cup SM3 x5

Figure 4.20

IV-10



2.4 Outside Frame R Assy, L Assy
(1) Unfasten the four screws.
2) Remove the two tower bars from the outside frame unit.

Tower bars
Taptite, cup SM3 x5

y\ Outside frame unit
L 4

Taptites, cup S M3 x 5

Taptite, cup SM3 x5

Figure 4.21

(8) Unfasten the two screws.

(4) Remove the outside frame R assy from the carriage guide 3.

Outside frame R assy

Taptites, cup S M3 x 5 Y !
ool

Figure 4.22

Carriage guide 3

IV-11



(5) Unfasten the four screws.

(6) Remove the outside frame L assy and the paper pressure frame assy from the
carriage guide 3.

Taptites, cup S M3 x 5

Outside frame L assy
Carriage guide 3

Paper pressure frame assy

Figure 4.23

25 Paper Pressing Gear 1, 2

(1) Remove the gear release spring from the paper pressure frame assy and the gear
release lever.

(2) Draw the paper pressure frame assy from the gear release lever in the direction
of the arrow.

(83) Remove the paper pressing gear 2.

Paper pressing gear 2

o Paper pressure frame assy

Gear release spring

%

Gear release lever

Figure 4.24

IV-12



(4) Remove the two retaining rings E3.
(5)  Pull out the two paper pressing gear shafts.

(6) Remove the paper pressing gears 1 and 2.

Paper pressin r2 > .
aper pressing gea \,"., T Paper pressing gear 1
R |

!

Retaining rings E3

Figure 4.25

2.6 Paper Pressure Motor
(1) Unfasten the screw A.

(2) Remove the cassette sensor lever and the leaf switch from the outside frame L
assy.

(3) Unfasten the two screws B.

(4) Remove the paper pressure motor from the outside frame L assy.

Paper pressure motor

Outside frame L assy

Screw B (Taptite, bind S M3 x 5)

Screw A (Taptite, cup S M3 x 5) \@

Figure 4.26

IV-13



2.7 T Belt B40S2M396
(1)  Remove the belt tension spring.
(2)  Unfasten the screw.

(8) Remove the T belt B40S2M396.

Outside frame L assy

Belt tension spring

Taptite, cup SM3 x5

T Belt B40S2M396

Figure 4.27

2.8 Photo Interrupter 1240

) Flexing the hook inward, turn the photo interrupter 1240 in the direction of the
arrow and remove it.

Outside frame L assy

Photo interrupter 1240

Hooks

Figure 4.28

IV-14



3. INSIDE FRAME UNIT
3.1 Reversible Frame
(1) Unfasten the six screws.

(2) Remove the reversible frame.

Screws, pan

(S/P washer) M3 x 8 Inside frame unit

Switching guide

Reversible frame

Taptites, cup S M3 x 6

Figure 4.29

3.2 Photo interrupter 1240

(1) Disconnect the reverse sensor harness assy from the photo interrupter 1240.

(2) Flex the hooks of the photo interrupter 1240 to the inside to remove it.

Reverse sensor harness assy

/ Photo interrupter 1240

Figure 4.30

IV-15



3.3 Solenoid
(1) Remove the solenoid spring.
(2)  Unfasten the two screws.
(3) Remove the solenoid.
(4) Detach the retaining ring ES3.
(5) Remove the switch arm and the solenoid link.

Notel : Since the solenoid assy harness is connected to the conductor,
handle it with care.

Note2 : Mount the solenoid without leaving the harness exposed
excessively.

Inside frame unit

Retaining ring E3
Solenoid spring

/:% Screws, cup M3 x 5

A

Switch arm

Solenoid link assy

Solenoid assy harness

Solenoid

Figure 4.31

3.4 Carriage Guide 2 Assy
) Unfasten the screw A and the screw B.

(2)  Slide the carriage guide 2 assy slightly in the direction of the arrow, and
disengage the hooks.

(©) Remove the carriage guide 2 assy.

Notel : When removing the carriage guide 2 assy, take care not to
damage the solenoid assy harness.

Carriage guide 2 assy

Hook

& Screw A (Taptite,
cup S M3 x 5)

Solenoid assy harness

g@\\ Washer
Screw B (Shoulder screw M3-4 x 4.4)

Figure 4.32

IV-16



3.5 Carriage Guide 1
(1) Slid the carriage guide 1 slightly in the direction of the arrow.
(2) Disengage the carriage guide 1 from the engaging locks of the inside frame assy.
(3)  Slide up and remove the carriage guide 1.

Engaging lock
Engaging lock
/ - gaging

/
1

T
Carriage guide 1 = L\ 0\

Figure 4.33

Inside frame unit

3.6 Duplex PCB Assy

(1) Disconnect the connectors of the solenoid, DC fan motor, reversible motor assy
and reverse sensor harness assy from the Duplex PCB assy.

(2) Detach the two retaining rings E3.
(3) Remove the two PF bearings 05.

(4) Remove the carriage roller assy.

Reversible motor assy DC fan motor

Retaining rings E3

¢

. Duplex PCB assy
PF bearing 05

PF bearing 05

o Q@@// Retaining ring E3

Reverse sensor _
harness assy Solenoid

Carriage roller assy

Figure 4.34

IvV-17



(5) Unfasten the four screws.

(6) Remove the Duplex PCB assy.

Duplex PCB assy

Taptites, cup S M3 x 5

Figure 4.35

3.7 DC Fan Motor

(1) Use a minus screwdriver to disengage the hook of the reversible gear 15-30, and
detach the gear.

(2) Detach the retaining ring E3.
(3) Remove the PF bearing 05.

(4) Remove the reversible gear assy.

Reversible gear 15-30

DC fan motor

PF bearing 05

Retaining ring E3

Reversible gear assy

Hook Reversible gear 15-30

Figure 4.36

IV-18



(5) Unfasten the three screws.
(6) Remove the DC fan motor.

Notel : The DC fan motor should be so mounted that the label will not be
exposed.

| Screw, pan (washer)
M3 x 29.5

Screws, pan (washer)
M3 x 29.5

(o
DC fan motor

Figure 4.37

3.8 Reversible Motor Assy
(1) Unfasten the two screws.

2) Remove the reversible motor assy.

Reversible motor assy

Screws, cup M4 x 6

Figure 4.38

IV-19



4, DU TRAY CARRYING WAY UNIT
(1) Unfasten the screw on the back of unit.

Taptite, bind B M3 x 6

X

DU tray carrying way

Roller

Figure 4.39

(2)  Turn the unit to the face and remove the pressure roller.

DU tray carrying way

Pressure roller

Figure 4.40

IV-20



(©) Unfasten the three screws.

Taptite, bind B M3 x 6

Carriage guide 4

Figure 4.41

(4) Remove the four hooks on the back of unit and carriage guide 4.

Hook

Hook

Hook

DU tray carrying way

Figure 4.42

Carriage guide 4

Figure 4.43

IvV-21



Notel : Take care not to come off the rear ground spring.
When reassembling the rear ground spring, put it in the locating boss.

Rear ground spring

Locating boss

Front ground spring

Figure 4.44

(5) Remove the tray pulley gear shaft from the clamp.

Paper pressure plate

T Belt B40S2M396

DU tray carrying way Tray pulley gear

Clamp

Figure 4.45

IV-22



(6) Remove the paper pressure fulcrum shaft from the two clamps.

Paper pressure 1

Paper pressure 2 assy

Paper pressure fulcrum shaft

DU tray carrying way

Figure 4.46

(7)  Remove the roller assy from the clamp.

Roller assy

Figure 4.47

IV-23



(8) Remove the discharge brush.

Front ground spring

Clamps

Discharge brush \

Figure 4.48

IV-24



T-A

Troubleshooting (1)

Problem

Cause

Check

Result

Remedy

The Duplex mode cannot
be set on the panel.

Misoperation

Is the modular cable connected properly?

No

Turn off the power to the printer, and connect
the modular cable properly. Then, turn on the
power again.

Modular cable Does a voltage of 24V appear at pin 14 or | Yes Replace the main PCB.
Main PCB 15 of I/F PCB’s connector P4?
No Replace the modular cable.
“NO DX TRAY” error Misoperation Is the Duplex tray loaded properly into the | No Load the Duplex tray into the cassette according
message appears. cassette according to the manual? to the manual.
Main PCB Does a voltage of 24V appear at pins 3 No Replace the main PCB.
and 4 of I/F PCB’s connector P3, and does
the voltage vary from OV to 24V at pins 1,
2, 5 and 6 when the paper cassette is set?
Paper pressure Does the paper pressure motor run when | No Replace the paper pressure motor.
motor the paper cassette is set?
Yes Replace the cassette sensor lever and
leaf switch. Refer to Figure 4.26 (IV-9).
“DX OPEN?” error message | Misoperation Is the hook of the Duplex unit’s reversing No Close the reversing mechanism so as to engage
appears. mechanism engaged completely with the the hook securely with the outside frame.
outside frame?
Open cover sensor | Does a voltage of 5V appear at pin 3 of I/F [ No Replace the open cover sensor or cover sensor
Main PCB PCB’s connector P1 when the cover is harness.
closed?
Yes Replace the main PCB.
“DX FAN MALF" error Main PCB Does a voltage of more than15V appear No Replace the main PCB.
message apprears. at pin 1 of main PCB’s connector P1?
Fan Is the voltage OV at pin 2 of main PCB’s No Replace the fan.
Main PCB connector P1? ]
Yes Replace the main PCB.

N d31dVHO

ONILOOHSITAdNO0Y.L



A\

Troubleshooting (2)

Problem Cause Check Result Remedy
Paper is not supplied in Misoperation Is the Duplex unit set properly in the No Set the Duplex unit properly according to the
the Duplex unit. printer? manual.
Main PCB Does the voltage vary from 24V to OV at No Replace the main PCB.
pin 2 of main PCB® connector P2?
Solenoid Does the solenoid function? No Replace the solenoid.
Main PCB Does the voltage vary from 24V to OV at No Replace the main PCB.
pins 1, 2, 3 and 4 of main PCB's
connector P6?
Reversible motor Does the reversible motor run? No Replace the reversible motor.
"JAM DUPLEX" error Switching guide Does the switching guide move smoothly? | No Reset the switching guide, or replace its parts.
message appears though Refer to Figure 4.29 (IV-11).
no paper is supplied in the ) _
Duplex unit. Main PCB Does the voltage vary from 5V to OV at pin | No Replace the reverse sensor or reverse sensor
The paper supplied in the | Reverse sensor 3 of main PCB's connector P5 while the harness.
i switching guide is moving?
Duplex unit stops halfway. Yes Replace the main PCB.
DU detection Does the actuator (Parts reference list, No Replace the HL-1660/2060 actuator.
(HL-1660/2060) 11-20) move smoothly?
"JAM TRAY" error HL-1660/2060 unit | Supply paper in Simplex mode. No Repair the HL-1260 unit.
message appears. Pickup roller Is paper correctly supplied? (Pickup mistake with the first sheet of paper)
The first or second sheet of | (HL-1660/2060)
paper is not supplied to the | Duplex tray Yes @ Set the Duplex tray correctly.

HL-1260 resist sensor.

(@ Set the HL-1660/2060 pickup roller correctly.
(Pickup mistake with the second sheet of paper)




Appendix 1. Connection Diagram

L S ¥ | € 1
ABT
1d
£< 0403/
Ldcang AB®
c YOSN3S N30 ¥3A0D
— Tdvam
T
2 ans
¥OSN3S 3L13SSYI
€ vsas
T
ed
5 VHdd/
9 aHdd
5
£d
<
v Aye+
ed
<
< Arer
rd mm VHdd Jmm aNg
9400/ 4 YOLOW SS3dd ¥3dvd 9d
ed =< N9
oy 7< 8Hdd/ S
¥d0I <7 9d¢ ppa+
€
vd 9d
VS < T< Aves
9d
VHdd/ > hves Lo
o1 9d
NLLY/
vd El
8Hdd > ad
M21IS
vd 2
YHdd 9d
1vais
€1 ENA 092 -
e ADF 2991~
8rdd/ > 2921 -H
o<k 29 g
N9 Wm U= mM N9
vd 2Ny2e 18 sd
<
Ave+ ST 11 c Ave+
vd 5d
Aver & T Ares
vd sd
83d NIVW 158/ <9 A
vd 3d
NLLY/ <5 S<NLLY/
vd Sd
WIS &g SIS
vd 5d
VIVAIS & =< vivais
o)
Ave+
1 | S 4 | € | ] 1

A-1



Appendix 2. Motor Drive Circuit
1 | 2 | | 4 | | 3 | 7 | 8 | 3 | 0 I T I 2
+5V
+24y +5v 47K X &
741507 R19
13 12 Y
' /ATNIN (x -08C)
+24V g GDO
R28 R29 R30 R12
2 1eK 27K 220
FEYU CR— 11 18 A AGEN.! .
INTER CONNECT PCB P3 {> SICLK (x -@6C)
R23 100
7 R13
/ATTN
3 P +5v
R22 100 5 5 [ SIOUT (x -@6D)
SICLK OB ! RIL
SIDATA Re1 1o s <} < ] DATAOUT (x -86C)
P3 R14
R20 100 o nN— #1
et 510 3 4 SLIN ¢ -86D) R4 M5 1953BL
P3 L 2.2k |
RIS 1K c
sesa ML /CSTIN ¢x -88E> L €8 . Clal ciiL ci2 4 ler
P3 103 101 X 3 1 2 o
out
RIS 1K 2
scope 22 3N
P3 | el cs | c13 | ct 13 | ce D
FPiE +24v 181 X 4 123 104 T 473
COPA XGRS 0V
pm% +5V
RDIGEB X 2 703
4 + CcsT2 SeMeH 24y
/PPHE $g—————————— " M5@927-3%%xSP v
M5286P w, 204 sy 10 XTALL
S s VDD XIN !
PPHB {5 4 9 I8 EF———0=0v
P3 GND  COM1 " +5v
s ?2 cND coMe 1? 2 vss
/PPHA égr————————— GND  vee xouT| L,
P3 +24VRET 13 vee—& 1 4 lenvss &
Pl RESET—
CND X5y 2 _geuTT  TNIp—2 o 108 DATAQUT 22 IFg7SRoy 2 o RD3.9FB2 X 2
7_goote TNep—8 G -10A) SICLK F1/CLK INT JATNIN (x -10A) 25A1283 bt ZD2 RE
15 18 TGb_LL - 25 'y
OND %53 (ERBLE} +av o -18n s1ouT—E8 Jra/souT o9 47K
15 doom T4 o -108> STIN F3/SIN  CNT
+5
v 8 Ly Fanp
2 1 +5v Pl
+24VRET 10 03 RS 1K 5 FAN MOTOR
11 S ¢ -@BD> /FLOCK %Pl FLOCK
[
x -@6D) FAND
MS4640P R36 $R33 R34 i D0 7 Pi CND
3 - 11 1ok Siek S 1ok =01 AV
7 2 3
c15 4 Ph 8 D3 AV
5 (x -08D> FAND—E_pg
lo4 iz oD s x -101) sFLOCK 19 g 4 +24VRET
SN L e ks
+24VRET ND 5 fas ol—S 0V
24v i " D8 K1 —& JCSTIN (x 048
.
&vmm 12 R38B 1K
1t ces ce4 s c
33u/sev | 183 1A 5 INVA
T
| e R16 1K e TNV SENSOR
/
e c16
+24VRET - R37 s | 2! Pé oo
082 1/2W
0V
+24VRET +5V
+5V
1 +5V +24v
P
PHA $55
/PHA 2
PLE——
3 HE oL 1
INV MOTOR M5464@P R3S SeD1856 ok 24V
R 3 11 1ok R8 04 INV SOLENOID
6 vee 47K DTC143ES 2 2y
F--= P2
4 4 8 5
/PHB G cL7
P6 T
1e4 ig GND 1 El 1
+24VRET ND
7
3 11
24V OV
VHH RAL 1K 47
1@
s c R43 7805 +24VRET
MA 120 20 ool
T2 +24v LN ouT 3 +sv
con
L e eE I+ coo + c22 2 cie |t cat |
L ces T 33u/s0v T 1eu/sav 104 T 10u/S50v [ 104 (74LS@7)
R4 R42 T 821
56K +24VRET oV
0.82 1/2W
+24VRET
1 | 2 | | 4 | S | 6 | 7 | (] T ] T 0 T 1 T 2

A-2




Appendix 3. Main PCB Circuitry Diagram
i I

2 I 3 I 4 I 5 I 3 I 7 I 8 I E] I 10 I 11 I 2

45V
$24V 35V
3
K
INTER CONNECT PCB 741507 R19 4.7
' x 13<4>012 -ATNIN X -870)
24V %63 R28 R29 R32 N R12 4.7K
2 18K 27K 220 ~
+24V N
. i R23 100 1 10 SICLK (x ~@6C>
7 | RI3 4.7K
-ATIN> L I—!vv»—« 45V
R22 100 1 SIOUT (x -@6D>
SICLK :3 CERNE] RIT 4.7K
R21 10 I—’\/\/\r—<
S <1 DATAOUT Gx -@6C>
SIDATA XS N R14 4.7K "
) - R2D 100 3[4 IIN— SIIN (x -26D> :4% M51953BL
-RST 52 L ’ 1 c
R18 1K co lcio Le1r e 4
—csa ;:x{ ~CSTIN ¢x -@7E) 1 2 S GLT
12 RIS 1K 2 _Inc
weore L 1o1xe Lca dlea Lee CND
P3 +24V = = = =
183 124 473
13 N °© c13
— % ov
COPA XSS
703
PPNA% h 1 RD10EB O.SV o +24V
Ha D4 *2 CST2 .58MCH
g M5286P ¥ zoioce 1150927 -*xxSP -
P3 [
c 4 comf—2 35V 2 von XIN ! v +5V ”
PPHE S —oNp  corz—18 15 =
:i oo vee————————— vss =
s veol xouT|
-PPHA &5y +24VRETO NVSS '
2 12 RESETD> R4S g3
14 5 ot INIo—o 11 x -1g8> DATAOUT -23_{r57e 4.7K
gouTz  IN2p- #9 " - F@/SRDY . DTC143ES . .
L] OND %55 z fE] 5 < $SV O x -1 SICLK-22 fpy/ck  INT—2 -ATNIN (x -18A) r-- - Sonizes
15 1S douts TG 4 4 3 O ox -18) SIOUT-22F2/S0UT 2 & -96D FANDI
GND ¥5=—¢ 6 74LS04 (x -128>  SIIN F3/SIN  CNTR|
S x{x
10 e L
8 #9 wowlw 9 45V
v2avreP g% 35 I FT s gs o 01
b 2 6 S slzlz FTE po as RD3.9FB2
3 74L504 2 R44 1.2K RI 1.2K o
b2 B 25A1283 02
#S #8 74832 D1 AV (x -g6D) FAND2 RD3 .9FB2 RE
M54648P R36 S RI3$ R34 D2 4.7K
[3 c 11 12k S 18K § 18K (% -p8D> FAND2 —2 D3 3
(x -g8D> FANDL—18 fpg A .
4 8 o -11E) -FLOCK D5 VREF|
i 3 D6 o ov ¢ 51> FAND
o s 21 |0 s ov RS 1K 2
50N> I 22 | o K1—8 ~CSTIN (% -248) O -@6D> -FLOCK —AAN——5T< FLOCK
+24VRETO 1
5 3
——5+X GND
+24/O " PI
| T vV 10 R38 1K
£ 1+ ce3 L ces s c FAN MOTOR
T 3%wsev T 123 MA 2
, o
+24VRE’
1 B 16
c14 1 cie
¢E4VREP - R37 R39 =
] 8218568 1724 56K 821 INVA
RIE 1K INV SENSOR
sV -INVC
+
9 2
GND
‘Eivﬁip P4
F
1 s $SV +24
D ————— ISV
PHA <p5 MG4640P RIS ov
18K
2 3 11
-PHA G vce
1
INV MOTOR 8 Qt
3 c17 L 4 D Y 2501866 pax 124
R 104 T 5 10N R8 Q4 3.3K INV SOLENOID
i 4 ii CND- T 2 4.7 DTC143ES
-PHB {ge——————————— D Fe-=
PHB <55 +24VRETO P 3,
*24\:0—:?4 Vi 1
i R41 1K LYW
1o
15
c A 2 #7
T R43 7805
1 16 120 2W +24VRE
k] ov
MB E| +24v0 1 fin ou Os5v
€18 $Rap Rez L c25 c20 c22 2 1 c19 I cat | cs 1 ces
821 0.68 172K S 821 33u/58V 18u/50V T 184 T 12u/s@v [ 124 T 104
(74L507) (74LS04 ,74L532)
— v
+24VRETO o+
¢E4VRE1O
H
[H]
T T 2 T 3 T 7 T 5 T 3 T 7 T g T E T 0 T T T

A-3




July, '98
54T047NEO-DX-2000



	CONTENTS
	CHAPTER  I  GENERAL
	 1. SPECIFICATIONS

	CHAPTER  II  MECHANICAL SYSTEM
	1. BLOCK DIAGRAM
	2. PAPER FEED MECHANISM
	3. PAPER FEED SEQUENCE
	4. PAPER PRESSURE MECHANISM

	CHAPTER  III  ELECTRICAL SYSTEM
	1. COMPOSITION
	2. MAIN PCB FUNCTION
	2.1 I/F Circuit
	2.2 Regulator
	2.3 Fan Drive Circuit
	2.4 Motor Drive Circuit
	2.5 Solenoid Actuator
	2.6 Sensor Input

	3. I/F PCB
	4. COMMUNICATION WITH THE PRINTER

	CHAPTER  IV  DISASSEMBLY
	1. EXTERNAL COVERS
	1.1 Composition
	1.2 Side Cover R
	1.3 Side Cover L
	1.4 Bottom Cover
	1.5 Top Cover

	2. OUTSIDE FRAME UNIT
	2.3 Duplex I/F PCB
	2.4 Outside Frame R Assy, L Assy
	2.5 Paper Pressing Gear 1, 2
	2.6 Paper Pressure Motor
	2.7 T Belt B40S2M396
	2.8 Photo Interrupter 1240
	2.1 Composition
	2.2.1 Removing the outside frame unit from the Duplex unit
	2.2.2 Mounting the outside frame unit in the Duplex unit

	3. INSIDE FRAME UNIT
	3.1 Reversible Frame
	3.2 Photo interrupter 1240
	3.3 Solenoid
	3.4 Carriage Guide 2 Assy
	3.5 Carriage Guide 1
	3.6 Duplex PCB Assy
	3.7 DC Fan Motor
	3.8 Reversible Motor Assy

	4. DU TRAY CARRYING WAY UNIT

	CHAPTER  V  TROUBLESHOOTING
	Troubleshooting (1)
	Troubleshooting (2)

	Appendix 1. Connection Diagram
	Appendix 2. Motor Drive Circuit
	Appendix 3. Main PCB Circuitry Diagram

